Bolt Bag Contents:
T R UC K G E A R
) Quantity | Description
11-14 Ford F250-F450 Pro Series FBR -
Installation Instructions. 16 1/2" Flat Washers
Part # 130-11-1005 8 1/2" X 2 1/4” Bolts

8 1/2" Hex Nuts
8 1/2” Lock Washers
8 1/4” Lock washers

- hos

Factory Fog Light Brackets 16 1/4” flat washers

8 1/4” Lock nut
8 1/4” X 1” hex bolts
80 Total Pieces

Step 1: Remove factory bumper.

Step 2: Remove factory fog lights from factory bumper and attach to bracket provided. Attach
this bracket and light to the pegs on the underside of FBR.

Step 3: Removing factory tow hooks and install frame bracket and tow hooks as seen in
picture above. Use factory bolts. DO NOT REMOVE THE FACTORY CRASH PLATE.

Step 4: Mount Front Bumper Replacement (FBR) to frame bracket installed in step 3.

Step 5: Check alignment of FBR to truck and tighten all bolts.



http://www.carid.com/frontier-truck-gear/
http://www.carid.com/off-road-bumpers.html

